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Red Maths Answers 

 

Because when you are subtracting 7 the number will be getting smaller on the number line 

and subsequently will move to the left. 

The man is £18 in debt (-£18) 

 

 

 

Half of 4 208 092 = 2 104 046 

 

6 203 217 + 55 000 = 6 258 217 

 

 

 

 

 

 



Which two numbers can be multiplied together to make 20 000 000? 

 

40 000 and 5000 

The temperature halfway up the mountain is -2 degrees. 

 

The hundred column.  In the first digit there are 5 hundreds and in the second number 

theirs 1 hundred. 

The order of the numbers, from smallest to largest, are as follows: 

277 277 (because this number doesn’t go into the millions) 

2 722 727 (because this number only has 2 in the tens column) 

2 722 772 (whereas this number has 7 in the tens column) 

2 727 272 (this is the biggest because it has more thousands than the previous two 

numbers) 

 

 

 



 

2 567 286 could be rounded to 2 600 000 if you were rounding it to the nearest hundred 

thousand because the 6 in the ten thousands column would mean you would round up. 

3250 rounded to the nearest 500 is 3500 

I would round it to 8.6 million.  The reason I’d round it to the nearest hundred thousand is 

because it is precise but still easy to read and understand. 


